
https://www.pass4itsure.com/4a0-110.html
2024 Latest pass4itsure 4A0-110 PDF and VCE dumps Download

 

 

 

4A0-110Q&As

Alcatel-Lucent Advanced Troubleshooting

Pass Alcatel-Lucent 4A0-110 Exam with 100%
Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.pass4itsure.com/4a0-110.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by Alcatel-
Lucent Official Exam Center

 

 

4A0-110 Practice Test | 4A0-110 Study Guide | 4A0-110 Braindumps                                1 / 6

https://www.pass4itsure.com/4a0-110.html
https://www.pass4itsure.com/4a0-110.html
https://www.pass4itsure.com/4a0-110.html


https://www.pass4itsure.com/4a0-110.html
2024 Latest pass4itsure 4A0-110 PDF and VCE dumps Download

QUESTION 1

VPRN 300 is configured on Node 4. BGP is being used as the PE-CE routing protocol. Node 2 is the CE router. The
BGP session is not established between Node 4 and Node 2. What is missing in the configuration? 
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A. Type external has to be configured on Node 2 under group vrf 

B. Autonomous-system has to be configured on Node 4 under vprn 300 

C. Router-id has to be configured on Node 4 under vprn 300 

D. Router-id has to be added under BGP on Node 2 

E. EBGP will not work under VPRN 

Correct Answer: B 

 

QUESTION 2

A spoke-sdp terminated IES configured on Node 3 is down due on SDP serviceMTUMismatch error. The same error is
found on the corresponding SDP on Node 4. The VPLS is using the default service MTU. Which MTU value should be
modified to bring the SDP up on both Nodes? 

4A0-110 Practice Test | 4A0-110 Study Guide | 4A0-110 Braindumps                                3 / 6

https://www.pass4itsure.com/4a0-110.html
https://www.pass4itsure.com/4a0-110.html
https://www.pass4itsure.com/4a0-110.html


https://www.pass4itsure.com/4a0-110.html
2024 Latest pass4itsure 4A0-110 PDF and VCE dumps Download

A. IP MTU of the IES Interface on Node3 

B. Port MTU on Node 3 and Node 4 

C. SDP Path MTU on Node 3 and Node 4 

D. Service MTU on Node 4 

E. Path MTU on Node 3 and Node 4 

Correct Answer: A 

 

QUESTION 3

Based on the following CLI Output, why is the path toPod3-loose down? 

A. Path toPod3-loose is down because it is secondary path with no standby configured 

B. Path toPod3-loose is down because there is no explicit hop specified 

C. Path toPod3-loose is down because CSPF is not enabled 

D. Path toPod3-loose is down because the destination address 0.10.1.3 is not reachable 

E. Path toPod3-loose is not down because the failure code is oError 

Correct Answer: A 

 

 

QUESTION 4

Based on the following configuration, which of the following statements are true? Choose all that apply. 
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A. No OPSF adjacency found on Node 1 

B. Full OSPF adjacency between Node-1 and Node-2 

C. Full OSPF adjacency between Node-1 and Node-3 

D. Full OSPF adjacency between Node-1 and Node-4 

E. OSPF is enabled on Node 1 

Correct Answer: BE 
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QUESTION 5

Node 1 and Node 2 are directly connected running LDP. The system ip address of Node 2 is 10.10.10.1.2. Based on the
following display, why is the sdp down? 

A. Local SDP id does not match with the remote sdp id. 

B. Far End IP address is not reachable. 

C. Keepalive has to be enable on the SDP. 

D. LDP is not enable on the remote node\\'s interface. 

E. Targeted LDP session is disabled on the remote node. 

Correct Answer: A 
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